
 

23/06/2016 Page 1 of 2 3783272 
 

 
 
 
 

 
 

FK32 TOYOTA TUNDRA BRAKE LINE AND ABS WIRE RELOCATION  KIT 

 

 
Part Number Description Quantity 
3199908 ABS wire relocation plate 1 
3199909 Brake line relocation plate 1 
6151021 Bolt M8 x 20 x 1.25P 2 
6151032 Nyloc Nut M8 x 1.25P 2 
4581044 Flat Washer 8mm 4 

 
 
 

ABS wire relocation 
 
 

 
 

 

1. Remove bolt securing ABS wire bracket 
to rear axle housing as shown by arrow. 

 

 
 

 

2. Fit relocation plate to axle housing using 
OE bolt as shown.  

 
3. Secure ABS wire bracket to top of 

relocation plate using M8 bolt, washers 
and nyloc nut supplied in kit. 
 
Ensure ABS wire has still some free play 
and is not under tension after relocation 
plate has been fitted. 

 

 

OE bolt 

New 
bolt, nut 
and 
washers 



23/06/2016 Page 2 of 2 3783243 
 

Brake line relocation 
 

 

 
 

 
1. Remove bolts securing brake line as 

shown by arrows. 

 

 
 

 
2. Fit relocation plate to axle housing using 

OE bolt as shown by arrow. 
 
3. Fit brake line bracket to top of relocation 

plate using M8 bolt, washers and nyloc 
nut supplied in kit. 

 

 
 

 
4. Rotate clip shown by arrow so that the 

brake line is positioned above the bolt.  
 
5. Repeat for right hand side of axle 

housing. 
 
6. Secure clips using OE bolts. 

 

 
 

 
7. Double check all fasteners have been 

tightened securely. 

 

OE bolt 

New 
bolt, nut 
and 
washers 


